1	
2	
3	
4	
5	
6	
7	
8	
9	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	

26

27

28

29

30

ОΠ		NO	· •	12	nο	42
DII	1	141.1	.n-		-110-	

SPECIAL ORDINANCE NO. S-

AN ORDINANCE approving CONTRACT FOR EWING STREET EAST-WEST STORM SEWER EXTENSIONS PHASE I - RES. #75604, W.O. #75604 between API CONSTRUCTION CORP. and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.

NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONTRACT FOR EWING STREET EAST-WEST STORM SEWER EXTENSIONS PHASE I - RES. #75604, W.O. #75604 by and between API CONSTRUCTION CORP. and the City of Fort Wayne, Indiana, in connection with the Board of Public Works, is hereby ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for Construction of storm sewer extensions along Pearl Street, Main Street, Berry Street, Harrison Street, Fairfield Avenue, Fulton Street, Van Buren Street and Broadway. This will consisti of approximately 5,920 linear feet of 30", 24", 18", 15", & 12" storm sewer pipe. The storm sewer extensions will pick up existing street and parking lot inlets and catch basins that are currently connected to the combined system. It will also consist of 460 linear feet of 12" water main replacement along Pearl Street, 120 linear feet of water main lowering for the associated storm sewer installation and 290 linear feet of sanitary sewer near Webster Street:

involving a total cost of ONE MILLION, NINE HUNDRED EIGHTY-ONE THOUSAND, SIX HUNDRED AND 00/100 DOLLARS - (\$1,981,600.00). A copy of said Contract is on file with the Office of the City Clerk and made available for public inspection, according to law.

1	
2	SECTION 2. That this Ordinance shall be in full force and effect
3	from and after its passage and any and all necessary approval by the Mayor.
4	
5	
6	
7	Council Member
8	APPROVED AS TO FORM AND LEGALITY
9	
10	
11	Carol Helton, City Attorney
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	

AGREEMENT BETWEEN OWNER AND CONTRACTOR ON THE BASIS OF A STIPULATED PRICE

Resolution 75604 Work Order 75604

THIS AGREEMENT is by and between the <u>Board of Public Works of the City of Fort Wayne</u>, <u>Indiana</u> (hereinafter called Owner) and **API Construction Corp.**, (hereinafter called Contractor).

Owner and Contractor, in consideration of the mutual covenants hereinafter set forth, agree as follows:

ARTICLE 1 – WORK

1.01 Contractor shall complete all Work as specified or indicated in the Contract Documents. The Work is generally described as follows:

Construction of storm sewer extensions along Pearl Street, Main Street, Berry Street, Harrison Street, Fairfield Avenue, Fulton Street, Van Buren Street and Broadway. This will consist of approximately 5,920 linear feet of 30", 24", 18", 15" & 12" storm sewer pipe. The storm sewer extensions will pick up existing street and parking lot inlets and catch basins that are currently connected to the combined system. It will also consist of 460 linear feet of 12" water main replacement along Pearl Street, 120 linear feet of water main lowering for the associated storm sewer installation and 290 linear feet of sanitary sewer near Webster Street.

ARTICLE 2 - THE PROJECT

2.01 The Project for which the Work under the Contract Documents may be the whole or only a part is generally described as follows:

Ewing Street East-West Storm Sewer Extensions Phase I

ARTICLE 3 - ENGINEER

3.01 The Project has been designed by Commonwealth Engineers, which is to act as Owner's representative, assume all duties and responsibilities, and have the rights and authority assigned to Engineer in the Contract Documents in connection with the completion of the Work in accordance with the Contract Documents. Owner will confirm to Contractor prior to issuance of Notice to Proceed as to who will serve as Engineer.

ARTICLE 4 - CONTRACT TIMES

4.01 Time of the Essence

- A. All time limits for Milestones, if any, Substantial Completion, and completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- 4.02 Days to Achieve Substantial Completion and Final Payment
 - A. The Contractor shall complete the following activities of Work by the Milestone dates indicated. These Milestones are days after the date when the Contract Times commence to run as provided in Paragraph 2.03 of the General Conditions. Only one Project Area shall be constructed at a time.

Milestone 1: All proposed potholing shown with Project Plans shall be completed within 14 days after Notice to Proceed. All potholes shall be backfilled using 53/73 stone backfill and a temporary pavement repair shown under details on Sheet 36 of the Project Drawings.

Milestone 2: Complete all work related Traffic Control Plan Phase 1, 2 & 3 (Closure of Fairfield Avenue) under Sheet 42 of the Project Drawings and the installation of storm sewers within these associated areas—shall be completed by November 15, 2013. Work shall be tested and approved, storm sewers shall be fully operational, concrete sidewalks and curb fully restored shall be fully restored, and asphalt/concrete street shall be completed including final surface. Traffic along Fairfield will need to be reinstated from Pearl Street to Wayne Street.

- B. All Work will be substantially completed within 210 days after the date when the Contract Times commence to run as provided in Paragraph 2.03 of the General Conditions, and completed and ready for final payment in accordance with Paragraph 14.07 of the General Conditions by July 1, 2014.
- C. Definitions of Substantial Completion for this Work shall consist of the point in time when all Work, except final restoration of street, sidewalk, curb restoration, and seeding (with the exception of requirements under Milestone 2), has been installed and successfully tested.

4.03 Liquidated Damages

A. Contractor and Owner recognize that time is of the essence as stated in Paragraph 4.01 above and that Owner will suffer financial loss if the Work is not completed within the times specified in Paragraph 4.02 above, plus any extensions thereof allowed in accordance with Article 12 of the General Conditions. The parties also recognize the delays, expense, and difficulties involved in proving in a legal or arbitration proceeding the actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty), Contractor shall pay Owner \$2,500.00 for each day that expires after the time specified in Paragraph 4.02 above for Substantial Completion until the Work is substantially complete. After Substantial Completion,

if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Time or any proper extension thereof granted by Owner, Contractor shall pay Owner \$1,000.00 for each day that expires after the time specified in Paragraph 4.02 above for completion and readiness for final payment until the Work is completed and ready for final payment.

ARTICLE 5 - CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents an amount in current funds equal to the sum of the amounts determined pursuant to Paragraphs 5.01.A, 5.01.B, and 5.01.C below:
 - A. Not Used
 - B. For all Unit Price Work, an amount equal to the sum of the established unit price for each separately identified item of Unit Price Work times the actual quantity of that item:

See Article 5 (itemized Bid Schedule) of the Bid Form (00 41 00-3) to (00 41 00-5)

One Million, Nine Hundred Eighty One Thousand, Six Hundred Dollars, and Zero Cents (\$1,981,600.00)

The Bid prices for Unit Price Work set forth as of the Effective Date of the Agreement are based on estimated quantities. As provided in Paragraph 11.03 of the General Conditions, estimated quantities are not guaranteed, and determinations of actual quantities and classifications are to be made by Engineer as provided in Paragraph 9.07 of the General Conditions.

C. Not Used.

ARTICLE 6 - PAYMENT PROCEDURES

- 6.01 Submittal and Processing of Payments
 - A. Contractor shall submit Applications for Payment in accordance with Article 14 of the General Conditions. Applications for Payment will be processed by Engineer as provided in the General Conditions.
- 6.02 Progress Payments; Retainage
 - A. Owner shall make progress payments on account of the Contract Price on the basis of Contractor's Applications for Payment within 30 days of receipt during performance of the Work as provided in Paragraph 6.02.A.1 below. All such payments will be measured by the schedule of values established as provided in Paragraph 2.07.A of the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no schedule of values, as provided in the General Requirements.

API CONSTRUCTION CORP.

Afficie 5 - Basis of Bid EWING STREET EAST-WEST STORM SEWER EXTENSIONS - PHASE I

NOTE: Bidder may complete the following Bid Schedule.

Bidder will complete the Work in accordance with the Contract Documents for the following price(s); 5.01

TEM	WORK ITEM#	DESCRIPTION	ESTIMATED QUANTITY	UNITA	UNIT PRICE	AMOUNT
1	00 95 00-A	MOBILIZATION/OEMOBILIZATION	Ĺ	LS	\$95,000.00	\$95,000.00
2	8-00 SE 00	WORK ALLOWANCE (CITY DETERMINED)	1	LS	\$85,000.00	\$85,000,00
3	00 95 00-C	UTILITY POLE BRACING ALLOWANCE (AEP) (CITY DETERMINED)	I	L\$	\$10,000,00	\$10,000,00
4	00 93 00·D	STREET LIGHT POLE BRACING ALLOWANCE (CITY DETERMINED)	L	LS	\$30,000.00	\$30,600.00
5 - i	00 95 00-B	SPOT EXCAVATION (POTHOLING)	20	EA	\$350.00	\$7,000,00
6	GO 95 GO-F	NITRILE GASKETS FOR PIPE IN CONTAMINATED SOIL (8" TO 15")	8	EA	\$17.00	\$136,00
7	O-O-G	NITRILE GASKETS FOR PIPE IN CONTAMINATED SOIL (18" TO 30")	8	BA	\$30.00	\$240,00
8	H-00 26 00	LINE, THERMOPLASTIC, BROKEN, WHITE, 4- INCH PERMANENT	1,000	냐	\$0.55	\$550,00
9	00 95 00-1	LINE, THERMOPLASTIC, SOLID, WHITE, 4-INCH PERMANENT	2,800	Lr	\$0,55	\$1,540.00
10	60 9 5 00-J	LINE, THERMOPLASTIC, SOLID, YILLOW, 4-INCH PERMANENT	1,870	LF	\$0.55	\$1,028.50
11	00 95 00-K	LINE, THERMOPLASTIC, SOLID, WHITE, 6-INCH PERMANENT	1,300	LF	\$0,60	\$780.00
12	00 95 00-L	MESSAGE MARKING, THERMOPLASTIC, BICYCLE AND ARROW, PERMANENT	6	EA	\$105.00	\$630,00
13	00 95 00-M	TRANSVERSE MARKING, THERMOPLASTIC, STOP LINE, 24-INCH, PERMANENT	390	LF	\$3,70	\$1,443.00
14	00 95 00-N	TRANSVERSE MARKING, THERMOPLASTIC, 24- INCH CROSSWALK, PERMANENT	2,040	LT	\$5,00	\$10,200.00
1.5	00 95 00-C	CONCRETE RETAINING WALL AND STAIRS	ı	LS	\$19,533.25	\$19,533.25
16	00 95 00-P	TEMPORARY PAVEMENT SURFACE REPAIR	1,700	SY	\$35,00	\$59,500.00
17	01 55 26-A	MAINTENANCE AND PROTECTION OF TRAFFIC	1	LS	\$116,925.00	\$116,925.00
18	01 57 13-A	TEMPORARY EROSION AND SEDIMENTATION CONTROL	1	LS	\$3,750.00	\$3,750,00
19	01 71 16.13-A	VIDEO DOCUMENTATION OF CONDITIONS	1	E,S	\$2,000.00	\$2,000,00
20	01 78 39-A	PROJECT RECORD DOCUMENTS	1	LS	\$3,950,00	\$3,950,00
21	05 56 00-A	Casting, CI - 24° Sanitary MH Casting	2	EA	\$610,00	\$1,220,00
22	05 56 00-B	CASTING, C4 - 24" SOLID STORM MH CASTING	35	БA	\$225.00	\$7,875.00
23	05 56 00-C	Casting, C6 - 24" Storm MH Casting	Ś	EA	\$1,000.00	\$5,000.00
24	05 56 00-Д	CASTING, C10-2 FT. X 2 FT. CURB AND GUTTER CASTING	11	BA	\$300,00	\$3,300.00
25	05 \$600-B	CASTING, CII - 2 FF X 3 FT CURB AND GUTTER CASTING	30	RA	\$380,00	\$11,400,00
26	OS 56 00-F	CASTING, C12-33" ROUND CURB AND GUTTER CASTING	7	PA	\$700.00	\$4,900.00,
27	31 00 05-A	SPECIAL BACKFILL, NO. 53/73	3,470	CY	\$34,60	\$120,062,00
28		SOIL TRANSPORT AND DISPOSAL - SOLID WASTE DISPOSAL FACITILTY	500	TON	\$32.65	\$16,325,00
29		POTENTIALLY CONTAMINATED SOIL, STOCKPHING - CONTRACTOR STAGING AREA	300	CY	\$14,10	\$4,230,00
30	31 00 05-D	//8 SPECIAL BACKFILL FOR SELECTED AREAS	550	CY	\$26,20	\$14,410.00
31	31 00 05-Ti	FLOWABLE FULL	50	CY	\$150,00	\$7,500.00
32	31 00 05-F	#8 WASHED GRAYEL WITH GEOTEXTILE WRAP	300	CY	\$28,25	\$8,475.00
33	31 11 00-A	CLEARING & GRUBBING	ı	LS	\$2,750.00	\$2,750.00
34	31 11 00-B	INSTALL TREE	4	EA	\$400.00	\$1,600.00

(42H3)	ITEM#	DESCRIPTION	ESTUMATED QUANTITY	UNIT	UNIT	AMOUNT
35	32 12 16-A	PAVEMENT, ASPHALT MILLING 1.5" (RESIDENTIAL)	2,510	SY	\$2,70	\$6,777,00
36	32 12 16-B	PAVEMENT, ASPHALT MILLING 2" (ARTERIAL)	8,520	SY	\$2,70	\$23,004.00
37	32 12 16-C	ASPHALT SURFACE OVERLAY, 1.5" (PARKING)	330	SY	\$9,45	\$3,118.50
38	32 12 16-D	ASPHALT SURFACE OVERLAY, 1.5* (RESIDENTIAL)	3,020	SY	\$8,35	\$25,217,00
39	32 12 16-E	ASPHALIT SURFACE OVERLAY, 2" (ARTERIAL)	10,080	SY	\$9,55	\$96,264.00
40	32 12 16-F	ASPHALT PARKING, ASPHALT PATCHING (3" BINDER)	330	SY	\$28.95	\$9,553,50
41	32 12 16-G	RESIDENTIAL PAVEMENT, ASPHALT PATCHING (3"BINDER)	510	ŞY	\$32,00	\$16,320,00
42	32 12 16-11	ARTERIAL PAVEMENT, ASPHALT PATCHING (4" BINDER)	1,560	SY	\$34.50	\$53,820.00
43	32 13 00-A	CONCRETE REMOVAL OUTSIDE TRENCH LIMITS	1,640	YZ	\$7.70	\$12,628,00
44	32 J3 00-h	PAVEMENT, CONCRETE DRIVES & PARKING (8"PCCP OVER 2" NO.53 AGGREGATE)	100	SY	\$46.95	\$4,695,00
45	32 13 00-C	PAYEMENT, CONCRETE ARTERIAL (9" PCCP OVER 2" NO. 53 AGGREGATE)	2,000	SY	\$50,70	\$101,400.00
46	32 13 00-D	PAYBMENT, CONCRETE HIGH EARLY (9° PCCP OVER 2" NO, 53 AGGREGATE)	210	SY	\$52.95	\$11,119,50
47	32 16 00-A	TYPE II-A CURB	20	LP	\$7,20	\$144.00
48	32 16 00-B	TYPE II-B CURB AND GUTTER	20	LF	\$19,95	\$399,00
49	32 16 00-C	TYPE III CURB	380	LU	\$28,25	\$10,735,00
50	32 16 00-D	INTEGRAL CURB CONCRETE SERVALKS	990	SY	\$53,75	\$53,212.50
51	32 1600-R	CONCRETE SIDEWALK W/O CURB	210	SY	\$39,90	\$8,379.00
52	32 16 00-E	ADA CURB RAMPS, ALL TYPES	29	BA	\$1,050.00	\$30,450,00
53	32 92 00-A	LAWNS AND GRASSES	1	LS	\$7,040.00	\$7,040.00
54	34 05 33-A	6 INCH DUCTILE IRON UTILITY PIPING, CL350 (IVM LOWERINO)	60	LF	\$81.40	\$4,884.00
55	34 05 33-B	8 INCH DUCTALE IRON UTILITY PIPING, CL350 (YM LOWERING)	20	I,F	\$87,85	\$1,757.00
56	35 05 33-C	12 INCH DUCTILE IRON UTILITY PIPING, CL350 (WM LOWERING)	40	L)ř	\$128.40	\$5,136.00
57	33 05 33-D	12 INCH DUCTLE IRON UTILITY PIPING, CL350 (PEARL ST, WATER)	459	LF	\$68,35	\$31,372,65
58	33 05 33-E	12 INCH DUCTILE IRON UTILITY PIPING, CL350 (SEWER)	484	LF	\$79,50	\$38,478,00
59	33 05 33-F	16 INCH DUCTILE IRON UTILITY PIPING, CL250 (SEWER)	79	LF	\$99,50	\$7,860.50
60		6 INCH DIA 45 DEGREE BEND, RESTRAINED JOINT INSTALLATION, DI (IVM LOWERING)	12	EA	\$420.00	\$5,040.00
61	22.05.27.17	8 INCH DIA 45 DEGREE BEND, RESTRAINED JOINT INSTALLATION, DI (IVM LOWERING)	4	EA	\$470.00	\$1,880.00
62	22 05 72 3	12 INCH DIA 45 DEGREE BEND, RESTRAINED JOINT INSTALLATION, DI (WAI LOWERING)	4	BA	\$660,00	\$2,640,00
63	33 05 33-1	12 INCH DIA 45 DEGREE BEND, RESTRAINED JOINT INSTALLATION, DI (PEARL ST.)	10	BA	\$675,00	\$6,750,00
64	33 05 34,13-A	12 INCH CONCRETE NON-PRESSURE UTILITY PIPING, CL III	713	LF	\$59,00	\$42,067,00
65	33 05 34.13-B	IS INCH CONCRETE NON-PRESSURE UTILITY PIPING, CL III	499	LF	\$62,65	\$31,262.35
66	33 05 34.13-C	18 INCH CONCRETE NON-PRESSURE UTILITY PIPING, CL. BE	852	LF	\$61.95	\$52,781.40
67		24 INCH CONCRETE NON-PRESSURE UTILITY PIPING, CL BI	629	LF	\$74,00	\$46,546.00
68	22 AC 24 12 TC	30 INCH CONCRETE NON-PRESSURE UTILITY PIPING, CL III	2144	LF	\$97.60	\$209,254.40

STORE	WORK	al rate is reverted and assessment to violation in	ESTIMATED	ANGEL ANGE	(NA) NITHOUSE OF	N testingstonering and manager matter
ITEM:	ITEM#	DESCRIPTION	QUANTITY	UNIT	PRICE	AMOUNT
69	33 05 37.13-A	4 INCH PVC NON-PRESSORE UTILITY PIPING	33	LF	\$62.15	\$2,05 0,95
70	33 05 37.13-B	6 INCH PVC NON-PRESSURE UTILITY PITING	37	LR	\$73.60	\$2,723.20
71	33 05 37.13-C	8 INCH PVC NON-PRESSURE UTILITY PIPING	213	LF	\$45,35	\$9,659,55
72	33 05 37.16-A	6 INCH SDR 21 PVC PRESSURE UTILLITY PIPING	79	LF	\$56,00	\$4,424.00
73	33 05 37.16-B	24 INCH C905 PVC PRESSURE UTILITY PIPING	210	LF	\$106,90	\$22,449.00
74	33 05 37.16-C	30 INCH C905 PVC PRESSURE UTILITY PIPING	310	LF	\$142.00	\$44,020,00
75	33 05 38.13-A	6 INCH PERFORATED HDPH PIPING	160	LE	\$31.40	\$5,024.00
76	33 05 38,13-B	12 INCH PERFORATED HOPE PIPING	225	Lp	\$33.25	\$7,481,25
77	33 11 00-A	WATER MAIN CONNECTION (TAPPING SLEEVE AND VALVE)	1	EΛ	\$1,310.00	\$1,310.00
78	33 £1 00-B	WATER MAIN CONNECTION (CONNECT TO EXISTING VALVEMAIN "CUT IN FITTINGS")	13	ЕA	\$765.00	\$9,945.00
79	33 11 00-C	3/4" TEST RISER (TEMPORARY)	2	БA	\$350,00	\$700.00
89	33 11 00-D	removal of hydrants	1	BÅ	\$635,00	\$635,00
81	33 11 00-E	TEMPORARY 2 INCH BLOW-OFF	1	EA.	\$450.00	\$450.00
82	33 11 08-F	CUI AND PLUG (WATER MAIN ABANDONMENT)	1	gA	\$750.00	\$750,00
83	33 J2 00-A	fire hydrant assembly-type i (restrained ioint tee)	2	EΛ	\$5,370,00	\$10,740.00
84	33 12 00-13	6 INCH WATER SERVICE (PEARL STREET)	1	EA	\$5,375.00	\$5,375.00
85	33 12 00-C	WATER SERVICE LINE REPAIR (ALL OTHERS BXCEPT PEARL STREET)	20	EA	\$210.00	\$4,200.00
86	33 12 00-D	INSERTION VALVE EXCAVATION	6	ĽА	\$ 750.00	\$4,500.00
87	33 39 13-A	48" DIA. SANTTARY LYFILITY SEWERAGE MANHOLES	1	EA	\$2,100.00	\$2,100.00
88		48" DIA. DOGHOUSE SANITARY UTILITY SEWERAGE MANHOLES	1	БA	\$3,200.00	\$3,200,00
. 89	33 41 00-A	SEWER PIPE PLUG	35	BA	\$65.00	\$2,275,00
90	33 41 00-B	REMOVE EX, STRUCTURE (NOT REPLACED)	9	ΒV	\$400,00	\$3,600,00
91	33 44 13-A	PRECAST 30 INCH ROUND INLET	4	EÁ	\$1,150.00	\$4,600.00
92	33 44 13-B	PRECAST 33 INCH ROUND INLET	7	EΛ	\$1,200.00	\$8,400.00
93	33 44 13-C	PRECAST 2 FT, X 3 FT, INLET	30	EA .	\$1,350.00	\$40,500.00
94		48 INCH DIAMETER STORM DRAINAGE DRYWELL	3	ĽΑ	\$2,000.00	\$6,000.00
95		48 INCH DIAMETER STORM DRAINAGE MANROLE	18	EΑ	\$2,350,00	\$42,300.00
96		60 INCH DIAMETER STORM DRAINAGE MANHOLE	23	EA	\$4,150.00	\$95,450.00
97	33 49 13-20	72 INCH DIAMETER STORM DRAINAGE MANHOLE	3	EA	\$5,500,00	\$16,500,00
		TOTAL BIĎ			\$1,981,6	500.00

Unit prices have been computed in accordance with paragreph 11.03.8 of the General Conditions.

Bidder acknowledges that estimated quantities are not guaranteed, and are solely for the purpose of comparison of Bids, and final payment (or all Unit Price Bid items will be based on actual quantities provided, determined as provided in the Contract Documents.

- Prior to Substantial Completion, progress payments will be made in an amount equal to the
 percentage indicated below but, in each case, less the aggregate of payments previously
 made and less such amounts as Engineer may determine or Owner may withhold, including
 but not limited to liquidated damages, in accordance with Paragraph 14.02 of the General
 Conditions.
 - a. 95% of Work completed (with the balance being retainage). and
 - b. <u>95%</u> of cost of materials and equipment not incorporated in the Work (with the balance being retainage).
- B. Upon Substantial Completion, Owner shall pay an amount sufficient to increase total payments to Contractor to <u>100</u>% of the Work completed, less such amounts as Engineer shall determine in accordance with Paragraph 14.02.B.5 of the General Conditions and less <u>200</u>% of Engineer's estimate of the value of Work to be completed or corrected as shown on the tentative list of items to be completed or corrected attached to the certificate of Substantial Completion.
- C. If the contract is in excess of \$200,000, the contract will be subject to the standard Board of Public Works escrow agreement unless written notice is received from Contractor prior to execution of the Agreement stating that an Escrow Account is not desired. If an Escrow Account is not desired, then the Board of Public Works, in accordance with IC 36-1-12-14, shall hold the retainage and will not pay interest on the amounts of retainage that it holds

6.03 Final Payment

A. Upon final completion and acceptance of the Work in accordance with Paragraph 14.07 of the General Conditions, Owner shall pay the remainder of the Contract Price as recommended by Engineer as provided in said Paragraph 14.07.

ARTICLE 7 - INTEREST

7.01 All moneys not paid when due as provided in Article 14 of the General Conditions shall bear interest at the maximum rate allowed by law at the place of the Project.

ARTICLE 8 – CONTRACTOR'S REPRESENTATIONS

- 8.01 In order to induce Owner to enter into this Agreement, Contractor makes the following representations:
 - A. Contractor has examined and carefully studied the Contract Documents and the other related data identified in the Bidding Documents.
 - B. Contractor has visited the Site and become familiar with and is satisfied as to the general, local, and Site conditions that may affect cost, progress, and performance of the Work.

- C. Contractor is familiar with and is satisfied as to all federal, state, and local Laws and Regulations that may affect cost, progress, and performance of the Work.
- D. Contractor has carefully studied all: (1) reports of explorations and tests of subsurface conditions at or contiguous to the Site and all drawings of physical conditions relating to existing surface or subsurface structures at the Site (except Underground Facilities), if any, that have been identified in Paragraph SC-4.02 of the Supplementary Conditions as containing reliable "technical data," and (2) reports and drawings of Hazardous Environmental Conditions, if any, at the Site that have been identified in Paragraph SC-4.06 of the Supplementary Conditions as containing reliable "technical data."
- E. Contractor has considered the information known to Contractor; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Site-related reports and drawings identified in the Contract Documents, with respect to the effect of such information, observations, and documents on (1) the cost, progress, and performance of the Work; (2) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor, including any specific means, methods, techniques, sequences, and procedures of construction expressly required by the Contract Documents; and (3) Contractor's safety precautions and programs.
- F. Based on the information and observations referred to in Paragraph 8.01.E above, Contractor does not consider that further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract Documents.
- G. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.
- H. Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
- I. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.
- J. In connection with the performance of Work under this Contract, Contractor agrees to comply with Anti-Discrimination Under Indiana Code Chapter 5-16-6-1 and be bound by Chapter 93.036, of the Code of the City of Fort Wayne, Indiana of 1974, passed by the Common Council of the City of Fort Wayne, Indiana as General Ordinance No. G-34-78 (as amended) on December 12th, 1978. Contractor shall file a Manpower Utilization Report for this project with the Compliance Office within ten (10) days after completion of the construction or upon request of the Office of Compliance.

ARTICLE 9 – CONTRACT DOCUMENTS

0.01	<u> </u>
9.01	Contents
7.1/1	COURS

A.	The Contract	Documents	consist of	the	following:
----	--------------	-----------	------------	-----	------------

- 1. This Agreement (pages 00 52 00-1 to 00 52 00-11, inclusive);
- 2. Escrow Account Agreement (pages 00 54 43-1 to 00 54 43-3, inclusive);
- 3. E-Verify Affidavit (page 00 54 53-1, inclusive);
- 4. Performance Bond Form (pages 00 61 13.13-1 to 00 61 13.13-2, inclusive);
- 5. Payment Bond Form(pages 00 61 13.16-1 to 00 61 13.16-2, inclusive);
- 6. Guaranty Bond Form(pages 00 61 31-1 to 00 61 31-2, inclusive);
- 7. General Conditions (pages 00 72 00-1 to 00 72 00-41, inclusive);
- 8. Supplementary Conditions (pages 00 73 00-1 to 00 73 00-10, inclusive);
- 9. Specifications as listed in the Table of Contents of the Project Manual
- 10. Drawings consisting of Drawing No. SY-20546, Sheet 1 through 43, inclusive, with each sheet bearing the following general title: Ewing Street East-West Storm Sewer Extensions Phase I;
- 11. Addenda (numbers 1 to 4, inclusive);
- 12. Attachments to this Agreement (enumerated as follows);
 - a. Contractor's Bid Schedule (page 00 41 00-3 to 0041 00-5);
 - b. Documentation submitted by Contractor prior to Notice of Award (pages ____ to ___, inclusive);
- 13. The following which may be delivered or issued on or after the Effective Date of the Agreement and are not attached hereto:
 - a. Notice to Proceed (pages _____ to ____, inclusive).
 - b. Work Change Directives.
 - c. Change Orders.
- B. The documents listed in Paragraph 9.01.A are attached to this Agreement (except as expressly noted otherwise above).

- C. There are no Contract Documents other than those listed above in this Article 9.
- D. The Contract Documents may only be amended, modified, or supplemented as provided in Paragraph 3.04 of the General Conditions.

ARTICLE 10 – MISCELLANEOUS

10.01 Terms

A. Terms used in this Agreement will have the meanings stated in the General Conditions and the Supplementary Conditions.

10.02 Assignment of Contract

A. No assignment by a party hereto of any rights under or interests in the Contract will be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, moneys that may become due and moneys that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment, no assignment will release or discharge the assignor from any duty or responsibility under the Contract Documents.

10.03 Successors and Assigns

A. Owner and Contractor each binds itself, its partners, successors, assigns, and legal representatives to the other party hereto, its partners, successors, assigns, and legal representatives in respect to all covenants, agreements, and obligations contained in the Contract Documents.

10.04 Severability

A. Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Contractor, who agree that the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.

10.05 Contractor's Certifications

- A. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 10.05:
 - 1. "corrupt practice" means the offering, giving, receiving, or soliciting of anything of value likely to influence the action of a public official in the bidding process or in the Contract execution;

- 2. "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
- 3. "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, non-competitive levels; and
- 4. "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

10.06 Emerging Business Enterprise(EBE) Participation

EBE Retainage Requirements – If the Contractor is in compliance with the provisions of the construction Contract the Owner will make payments for such work performed and completed. Pursuant to Executive Order 90-01 (amended 5-8-06); the Owner will retain five percent (5%) of the Contract Price to ensure compliance with the EBE participation requirements. Upon final inspection and acceptance of the Work, and determination by the Fort Wayne Board of Public Works that the Contractor has made a good faith effort to subcontract ten percent (10%) of the Contract Price to emerging business enterprises, the Contractor will be paid in full.

In the event there is a determination that good faith compliance with these EBE participation requirements has not occurred, appropriate reduction in the final payment pursuant to paragraph 10.06.E will be made.

If the Contract Price is in excess of \$200,000, the contract will be subject to the standard Board of Public Works escrow agreement. However, payments to the Contractor are not to exceed 95% of the total Contract Price until the Owner has verified that the Contractor has made good faith efforts to attain the 10% EBE goal stipulated in here within. Payment of the final 5% of the total Contract Price will be dependent upon acceptance of the Work, in accordance with Paragraph 14.07 of the General Conditions, and good faith efforts to comply with these EBE participation requirements; subject to reduction in the event of non-compliance as provided in paragraph 10.06.E.

- A. Request for Waiver If, at the time final payment application is made, Contractor has not attained the ten percent (10%) EBE goal, Contractor shall file with the final payment application a "Request for Waiver." Said Request for Waiver shall contain a written description of the efforts taken by Contractor to attain the ten percent (10%) EBE goal.
- B. <u>Determination of Waiver Requests</u> The Contract Compliance Department of the City of Fort Wayne shall examine all Requests for Waiver to determine if Contractor's efforts constitute good faith efforts to attain such goal and shall submit recommendations concerning said requests for Waiver for the final determination of the Board of Public Works of the City of Fort Wayne.

- C. <u>Good Faith Efforts</u>. In determining whether or not the Contractor used "good faith" efforts, the following shall be considered:
 - Whether the contract can be subdivided as determined by the Engineer and Administrator of Contract Compliance;
 - 2. Availability of certified EBE businesses to participate as subcontractors;
 - 3. Non-competitive price quotes received from EBE firms. The Board of Public Works' determination for granting a reduction or waiver of the goal because of higher quotes from EBE firms will be based on factors that include, but are not limited to the following:
 - a. The Engineer's estimate for the work under a specific contract;
 - b. The Contractor's own estimate for the work under the subcontract;
 - c. An average of the valid prices quoted for the subcontract;
 - d. Demonstrated increase in other contract costs as a result of sub-contracting to EBE firm(s).
 - 4. Documented measures taken by the Contractor to comply with the EBE participation goal;
 - 5. EBE subcontractor failed to fulfill their obligation in regard to the time delivery of goods and/or services. Also in regards to the quality of the goods and/or services set forth in the bid specifications.
 - 6. Such other matters as the Board of Public Works deems relevant.
- D. <u>Consequences of Noncompliance</u> In the event the Board of Public Works approves a recommendation that Contractor failed to make good faith efforts at compliance, the Contract Price shall be reduced by the amount calculated as the difference between the EBE participation goal of 10% and the actual participation level met by the Contractor, but in no case shall it be reduced by more than 5%. Said amount shall be added to the City of Fort Wayne EBE Bond Guarantee Fund and Contractor agrees to accept the reduced amount as full payment under the terms of his/her Contract.
- E. <u>Waiver Approved</u> In the event the Board of Public Works determines that a good faith effort to comply with these EBE participation requirements has been made, the Contract Price shall not be reduced, and the balance owing to the Contractor shall be paid in full.

been signed or have been identified by Owner and Contractor or on their behalf. This Agreement will be effective on ________ (which is the Effective Date of the Agreement). CONTRACTOR: OWNER: API CONSTRUCTION CORP. CITY OF FORT WAYNE BY: (Name) THOMAS C. HENRY, MAYOR TITLE: _____ DATE: _____ (Date signed by Contractor) Address for giving notices: BOARD OF PUBLIC WORKS BY:_ ROBERT P. KENNEDY, CHAIR MIKE AVILA, MEMBER BY:__ KUMAR MENON, MEMBER VICTORIA EDWARDS, CLERK DATE: _____(Date signed by Board)

IN WITNESS WHEREOF, Owner and Contractor have signed this Agreement (Contract/Resolution Number 75604). One counterpart has been delivered to Owner, and one counterpart delivered to Contractor. All portions of the Contract Documents have

ACKNOWLEDGMENT (CONTRACTOR)

STATE OF INDIANA) SS:) COUNTY OF ALLEN)	
·	
BEFORE ME, a Notary Public, in and for s	aid County and State, thisday of,, who under penalty of perjury says that he is
the of	who under penalty of perjury says that he is
instrument and acknowledged the same as the	and as such duly authorized to execute the foregoing voluntary act and deed of for the uses
and purposes therein set forth.	
IN WITNESS WHEREOF, hereunto subscribe	ed my name, affixed my official seal.
	Notary Public
March 15 1	Printed Name of Notary
My Commission Expires:	
Resident of	County
<u>ACKNO</u>	OWLEDGMENT (OWNER)
ACKNO STATE OF INDIANA) SS:) COUNTY OF ALLEN) BEFORE ME, a Notary Public, in and for said appeared the within named Thomas C. Henry, I by me personally known, who being by me duly Wayne, and Chairman, Members, and Clerk of hat they signed said instrument on behalf of acknowledge said instrument to be in the volun	County and State, this day of,, personally Robert Kennedy, Mike Avila, Kumar Menon and Victoria Edwards, y sworn said that they are respectively the Mayor of the City of Fort
ACKNO STATE OF INDIANA) SS:) COUNTY OF ALLEN) BEFORE ME, a Notary Public, in and for said appeared the within named Thomas C. Henry, I by me personally known, who being by me duly Wayne, and Chairman, Members, and Clerk of that they signed said instrument on behalf of acknowledge said instrument to be in the volun forth.	County and State, this day of,, personally Robert Kennedy, Mike Avila, Kumar Menon and Victoria Edwards, y sworn said that they are respectively the Mayor of the City of Fort the Board of Public Works of the City of Fort Wayne, Indiana, and the City of Fort Wayne, Indiana, with full authority so to do and tary act and deed of said City for the uses and purposes therein set
ACKNO STATE OF INDIANA) SS:) COUNTY OF ALLEN) BEFORE ME, a Notary Public, in and for said appeared the within named Thomas C. Henry, I by me personally known, who being by me duly Wayne, and Chairman, Members, and Clerk of that they signed said instrument on behalf of acknowledge said instrument to be in the volun forth.	County and State, this
ACKNO STATE OF INDIANA) SS:) COUNTY OF ALLEN) BEFORE ME, a Notary Public, in and for said appeared the within named Thomas C. Henry, I by me personally known, who being by me duly Wayne, and Chairman, Members, and Clerk of that they signed said instrument on behalf of acknowledge said instrument to be in the volun forth.	County and State, this day of,, personally Robert Kennedy, Mike Avila, Kumar Menon and Victoria Edwards, y sworn said that they are respectively the Mayor of the City of Fort the Board of Public Works of the City of Fort Wayne, Indiana, and the City of Fort Wayne, Indiana, with full authority so to do and tary act and deed of said City for the uses and purposes therein set
ACKNO STATE OF INDIANA) SS:) COUNTY OF ALLEN) BEFORE ME, a Notary Public, in and for said appeared the within named Thomas C. Henry, I by me personally known, who being by me duly Wayne, and Chairman, Members, and Clerk of that they signed said instrument on behalf of acknowledge said instrument to be in the volunt forth. IN WITNESS WHEREOF, hereunto subscribe	County and State, this day of,, personally Robert Kennedy, Mike Avila, Kumar Menon and Victoria Edwards, y sworn said that they are respectively the Mayor of the City of Fort the Board of Public Works of the City of Fort Wayne, Indiana, and the City of Fort Wayne, Indiana, with full authority so to do and tary act and deed of said City for the uses and purposes therein set d my name, affixed my official seal.
ACKNO STATE OF INDIANA) SS:) COUNTY OF ALLEN) BEFORE ME, a Notary Public, in and for said appeared the within named Thomas C. Henry, I by me personally known, who being by me duly Wayne, and Chairman, Members, and Clerk of that they signed said instrument on behalf of	County and State, this day of,, personally Robert Kennedy, Mike Avila, Kumar Menon and Victoria Edwards, y sworn said that they are respectively the Mayor of the City of Fort the Board of Public Works of the City of Fort Wayne, Indiana, and the City of Fort Wayne, Indiana, with full authority so to do and tary act and deed of said City for the uses and purposes therein set d my name, affixed my official seal. Notary Public

CITY OF FORT WAYNE, INDIANA

API CONSTRUCTION CORP
(Vendor Name)

VENDOR DISCLOSURE STATEMENT RELATING TO:

- FINANCIAL INTERESTS;
- 2. POTENTIAL CONFLICTS OF INTERESTS;
- 3. CURRENT AND PENDING CONTRACTS OR PROCUREMENTS

Vendors desiring to enter into certain contracts with the City of Fort Wayne, Indiana (the "City") shall disclose their financial interests, potential conflicts of interest and current and pending contract or procurement information as set forth below.

The following disclosures by Vendors are required for all contracts with annual payments by the City in the amount of \$25,000 or more. Vendors shall disclose the financial interests, potential conflicts of interest and other contract and procurement information identified in Sections 1, 2 and 3 below as a prerequisite for consideration of an award of contract by the City. This Disclosure Statement must be completed and submitted together with Vendor's contract, bid, proposal, or offer.

A publicly traded entity may submit its current 10K disclosure filing in satisfaction of the disclosure requirements set forth in Sections 1 and 2 below.

Section 1. Disclosure of Financial Interest in Vendor

a.	apply and provide their names and addresses (attach	•	• • •
	(i) Equity ownership exceeding 5%	()	
	(ii) Distributable income share exceeding 5%	()	
	(iii)Not Applicable (If N/A, go to Section 2)	(<u>X</u>)	
	Name:	Name:	****
	Address:	Address:	
	For each individual listed in Section 1a., show his/he stock () partnership interest () ur For each individual listed in Section 1a., show the percownership interest:%	nits (LLC) () other (exp	lain)
Se	ction 2. Disclosure of Potential Conflicts of Inte	erest (not applicable for vendo	rs who file a 10K)
cor (ati	r each individual listed in Section 1a., check "Yes" or ' nflict of interest relationships apply. If "Yes", please tach additional pages as necessary): City employment, currently or in the previous 3 ye	describe using space under a	
	including contractual employment for services.	Yes	No. X

	(defined	ployment of "Member of Immediate Family" herein as: spouse, parent, child or sibling) including ual employment for services in the previous 3 years.	Yes		No.	X	
		ship to Member of Immediate Family holding <u>elective</u> se currently or in the previous 3 years.	Yes		No.,	X	
		ship to Member of Immediate Family holding <u>appointive</u> se currently or in the the previous 3 years	Yes		No	X	
	Section 3.	DISCLOSURE OF OTHER CONTRACT AND PROC	UREMEN	T RELATE	ED INFORMAT	rion	
	a. Does Ven	dor have <u>current</u> contracts (including leases) with the	City?	Yes _	<u>X</u> No		
1)	reference SNIDER HIGH CONTACT RAY CONTRACT DAT CONTRACT 4/1 c. Does Ve	identify each current contract with descriptive informar number, contract date and City contact using space belo SCHOOL/GLENWOOD PARK SEWER SEPERATION - PA WHITFIELD. 2) REED-TAMARACK ADDITION S E 11/30/12 - CONTACT RAY WHITFIELD. 3) /13 #75697 - PAT DOOLEY *** ALL CONTRACT Indor have pending contracts (including leases), bids, hip with the City?	ow (attach O 12905 TORM DR SMITH- ED THRU	additional 096-000 AINAGE - ROOSEVEL THE BIC , or other	pages as ned CONTRACT - RES. NO. T SEWER SE DDING PROCE	cessary). DATED 8/ 83236 PERATION	
4)	AWARDED - NEBR	EASKO CSO MODOFICATIONS RES. NO. 75760	3/19/2	013			
		ntify each pending matter with descriptive information City contact using space below (attach additional pages			oject number,	contract	
	Section 4.	CERTIFICATION OF DISCLOSURES					
		n with the disclosures contained in Sections 1, 2 and in attached Schedule A:	d 3 Vendo	or hereby	certifies that	, except	
ne"	а,	Vendor (or its parent) has not, within the five (5) y Disclosure Statement, been debarred, suspended ineligible or voluntarily excluded from any transaction government;	i, propos	ed for de	ebarment dec	lared	·
	b.	No officer or director of Vendor (or its parent) or individual or otherwise criminally or civilly charged by a govern commission of any offense;					
	G.	Vendor (or its parent) has not, within the five (5) year p Statement, had one or more public transactions (federal, state					
	d.	No officer or director of Vendor (or its parent) or individu	ual listed li	n Section 1	a. has, within	the five	

(5) year period preceding the date of this Disclosure Statement, been convicted, adjudged guilty, or found liable in any criminal or civil action instituted by the City, the federal or state government or any other

unit of local government; and

- e. Neither Vendor, nor its parent, nor any affiliated entity of Vendor, or any of their respective officers, directors, or individuals listed in Section 1a. is barred from contracting with any unit of any federal, state or local government as a result of engaging in or being convicted of: (i) bid-rigging; (ii) bid-rotating; or (iii) any similar federal or state offense that contains the same elements as the offense of bid-rigging or bid-rotating
- f. Pursuant to IC 5-22-16.5, Vendor hereby certifies they do NOT provide \$20 million dollars or more in goods or services to the energy sector of Iran. Vendor also certifies it is not a financial institution that extends \$20 million dollars or more in credit that will provide goods or services to the energy sector of Iran or extends \$20 million dollars or more in credit to a person identified on the list as a person engaging in investment activities in Iran.

The disclosures contained Sections 1, 2 and 3 and	id the foregoing Certifications are submitted by
API CONSTRUCTION CORP	P 0 BOX 191 LAOTTO, IN 46763
(Name of Vendor)	Address 260 ₎ 897–2743
	Telephone w.ort@apiland.net
	E-Mall Address

The individual authorized to sign on behalf of Vendor represents that he/she: (a) is fully informed regarding the matters pertaining to Vendor and its business; (b) has adequate knowledge to make the above representations and disclosures concerning Vendor; and (c) certifies that the foregoing representations and disclosures are true and accurate to the best of his/her knowledge and belief.

Name (Printed) KIRK BRAUN Title PRESIDENT
Signature Date 7/24/13

NOTE: FAILURE TO COMPLETE AND RETURN THIS FORM WITH YOUR DOCUMENTATION MAY RESULT IN YOUR CONTRACT, OFFER, BID OR PROPOSAL BEING DISQUALIFIED FROM CONSIDERATION.

	CASTING	1	ĽΑ	\$ 600.00	\$ 4,200,00	\$ 700,00	\$ 4,900.00	S 350.00	S 2,450,00	\$ 756,00	\$ 5,292,00	\$ 939,00	\$ 6,573,00
27	SPECIAL BACKFILL, NO. 53/73	3,470	CY	\$ 22.00	S 76,340,00	\$ 34.60	\$ 120,062,00	\$ 40.00	\$ 138,800,00	S 22.73	S 78,873.10	S 28,20	\$ 97,854.00
28	SOIL TRANSPORT AND DISPOSAL - SOLID WASTE DISPOSAL FACILITY	500	TON	S 50.00	\$ 25,000,00	\$ 32.65	\$ 16,325,00	S 10,00	\$ 5,000.00	\$ 30,50	\$ 15,250.00	\$ \$1.10	\$ 25,550,00
29	POTENTIALLY CONTAMINATED SOIL STOCKPILING - CONTRACTOR STAGING AREA	300	CY	\$ 20.00	\$ 6,000,00	\$ 14.10	\$ 4,230,00	\$ 4.00	\$ 1,200.06	s 145,00	\$ 43,500,00	\$ 30,63	\$ 9,189.00
30	#8 SPECIAL BACKFILL FOR SELECTED AREAS	550	CY	S 22,00	S 12,100,00	S 26.20	s 14,410,00	\$ 40.00	\$ 22,000,00	S 26.50	\$ 14,575.00	\$ 31.50	\$ 17,325,00
31	FLOWABLE FILL	50	CY	S 95,00	\$ 4,750,00	\$ 150,00	s 7,500.00	\$ 120,00	\$ 6,000.00	\$ 105.00	\$ 5,250.00	\$ 450.00	\$ 22,500.00
32	#8 WASHED GRAVEL WITH GEOTEXTILE WRAP	300	CY	\$ 95.00	\$ 28,500,00	\$ 28.25	\$ 8,475.00	s 20.00	S 24,000.00	S 38.50	\$ 11,550.00	\$ \$8.55	\$ 26,865.00
33	CLEARING & GRUBBING	1	LS	\$ 2,000,00	\$ 2,000,00	\$ 2,750.00	\$ 2,750,00	\$ 60,000.00	\$ 60,000.00	\$ 2,500.00	\$ 2,500.00	\$ 87,040,00	\$ 87,040.00
34	INSTALL TREE	4	EA	\$ 1,000,00	\$ 4,000,00	\$ 400,00	\$ 1,600,00	S 500,00	S 2,000.00	\$ 250.00	\$ 1,000.00	\$ 350.00	\$ 1,400.00
35	PAVEMENT, ASPHALT MILLING 1.5" (RESIDENTIAL)	2,510	SY	\$ 2,00	\$ 5,020,00	S 2.70	\$ 6,777.00	\$ 3:00	\$ 7,530.00	S 2,00	S 5,020.00	\$ 730	\$ 18,323,00
36	PAVEMENT. ASPHALT MILLING 2" (ARTERIAL)	8,520	SY	\$ 3.00	\$ 25,560,00	\$ 2.70	\$ 23,004.00	\$ 3,00	\$ 25,560,00	\$ 2.00	\$ 17,040.00	s 7.30	\$ 62,196,00
37	ASPHALT SURFACE OVERLAY, 1.5" (PARKING)	330	\$Y	\$ 8,00	\$ 2.640.00	S 9.45	\$ 3,118,50	\$ 9.00.	S 2,970.00	s 7.90	\$ 2,607.00	5 9,09	S 2,999.70
38	ASPHALT SURFACE OVERLAY, 1.5" (RESIDENTIAL)	3,020	SY	\$ 8.00	\$ 24,160.00	\$ 8.35	\$ 25,217,00	\$ 7.25	\$ 21,895.00	\$ 6.25	\$ 15,875.00	\$ 7,19	\$ 21,713.80
39	ASPHALT SURFACE OVERLAY, 2" (ARTERIAL)	10,080	SY	\$ 14,00	S 141,120,00	š 9,55	\$ 96,264.00	\$ 9.00	\$ 90,720,00	\$ 7,50	\$ 75,600.00	\$ 8,63	S 86,990,40
40	ASPHALT PARKING, ASPHALT PATCHING (3" BINDER)	330	SY	\$ 26,00	\$ 8,580.00	\$ 28.95	\$ 9,553.50	\$ 16,00	\$ 5,280,00	S 14,85	\$ 4,900.50	\$ 22,08	\$ 7,286.40
41	RESIDENTIAL PAVEMENT, ASPHALT PATCHING (3" BINDER)	510	ŞY	\$ 28,00	S 14,280.00	\$ 32,00	\$ 16,320.00	\$ 16,00	S 8,160,00	\$ 14.85	\$ 7,573,50	s 22.08	\$ 11,260.80
42	ARTERIAL PAVEMENT, ASPHALT PATCHING (4" BINDER)	1,560	SY	\$ 38,00	\$ 59,250.00	\$ 34.50	\$ 53,820,00	\$ 18.00	\$ 28,080,00	\$ 19.80	\$ 30,838.00	S 27.77	\$ 43,321.20
43	CONCRETE REMOVAL OUTSIDE TRENCH LIMITS	1,640	SY	\$ 20.00	\$ 32,800.00	\$ 7.70	S 12,628,00	S 18.00	\$ 29,520.00	\$ 4,50	\$ 7,380.00	\$ 10.20	\$ 16,728.00
44	PAVEMENT, CONCRETE DRIVES & PARKING (8" PCCP OVER 2" NO. 53 AGGREGATE)	100	SY	\$ 40.00	s 4,000.00	\$ 45.95	\$ 4,695.00	\$ 40.00	\$ 4,000.00	\$ 34.00	\$ 3,400.00	\$ 54,90	S 5,490,00
45	PAVEMENT, CONCRETE ARTERIAL (9" PCCP OVER 2" NO. 53 AGGREGATE)	2,000	SY	S 50.00	\$ 100,000.00	\$ 50,70	S 101.400.00	\$ 50,00	\$ 100,000,00	\$ 44.50	\$ 89,000,00	S 54.42	S 102,840,00
46	PAVEMENT. CONCRETE HIGH EARLY (9" PCCP OVER 2" NO. 53 AGGREGATE)	210	SY	\$ 70.00	\$ 14,700:00	\$ 52.95	\$ 11,119,50	\$ 62.00	\$ 13,020,00	S 55.00	\$ 11,550.00	S 57,30	\$ 12,033.00
47	TYPE II-A CURB	20	LF	\$ 13,00	S 260,00	s 7.20	\$ [44,00	\$ 12,00	\$ 240,00	\$ 24.75	\$ 495.00	S 19:00	\$ 380.00
48	TYPE II-B CURB AND GUTTER	20	LF	S 18,00	S 360,00	\$ 19.95	5 399,00	s 23.00	\$ 460,00	\$ 38.45	\$ 769.00	\$ 30.50	\$ 610,00
49	TYPE III CURB	380	LF	\$ 21,00	s 7,980.00	\$ 28.25	\$ 10,735,00	\$ 24,00	S 9,120.00	\$ 39.60	s 15,648.00	\$ 29.00	\$ 11,020.00
50	INTEGRAL CURB CONCRETE SIDWALKS	990	SY	S 35.00	\$ 34,650,00	\$ 53.75	S 53,212.50	s 40,00	\$ 39,600.00	S 72.65	S 71,923_50	\$ 60,85	\$ 60,241.50
51	CONCRETE SIDEWALK W/O CURB	210	SY	\$ 32,00	\$ 6,720.00	\$ 39.90	\$ 8,379.00	s 28,00	S 5,880.00	s 25.00	\$ 5,250,00	\$ 43,69	\$ 9,174.90
52	ADA CURB RAMPS, ALL TYPES	29	EA	s 1,000,00	s 29,000.00	s 1,050.00	30,450,00	\$ 900.00	\$ 26,100.00	\$ \$00.00	s 23,200,00	1,658,46	\$ 48,095,34
53	LAWNS AND GRASSES	1	LS	\$ 3,000.00	\$ 3,000.00	\$ 7,040,00	\$ 7,040,00	s 10,000.00	\$ 10,000,00	\$ 6,500.00	\$ 6,500,00	S 13,100.00	S 13,100.00
54	6 INCH DUCTILE IRON UTILITY PIPING, CL350 (VM LOWERING)	60	LF	s 40,00	S 2,400.00	s 81.40	\$ 4,884.00	S 30,00	00,008,1	5 68.00	0 5 4,080,00	\$ 324.95	\$ 19,497,00
55	8 INCH DUCTILE IRON UTILITY PIPING, CL350 (WM LOWERING)	20	LF	S 45.00	s 900.00	S 87.85	s 1,757,00	33,00	\$ 660.00	S 79.00	0 \$ 1,580,00	s 390.10	\$ 7,802,00
56	12 INCH DUCTILE IRON UTILITY PIPING, CL350 (WM LOWERING)	40	LF	\$ 60,00	5 2,400.00	\$ 128:40	s 5,136,00	0 S 40,00	0 \$ 1,600.00	\$ 95.25	5 \$ 3,810.00	\$ 314,80	\$ 12,592.00
57	12 INCH DUCTILE IRON UTILITY PIPING, CL350 (PEARL ST. WATER)	459	LF	\$ 60.00	S 27,540.00	S 68.35	5 \$ 31,372,68	5 56.00	3 25,704,00	\$ 72,50	0 \$ 33,277,50	s 145,20	S 66,646,80
58	12 INCH DUCTILE IRON UTILITY PIPING, CL350 (SEWER)	464	ĻF	\$ 60.00	0 \$ 29,040.00	\$ 79.50	S 38,478.00	\$ 56.0r	0 \$ 27,104.00	\$ 91.95	5 \$ 44,503.80	\$ 195.35	s 94,549.40
59	16 INCH DUCTILE IRON UTILITY PIPING, CL250 (SEWER)	79	LF	5 75.00	0 S 5,925.00	0 \$ 99.50	0 \$ 7,860.50	5 70.04	o S 5,530.00	s 113.00	0 S 8,927,00	5 185,10	\$ 14,622,90
60	6 INCH DIA 45 DEGREE BEND, RESTRAINED JOINT INSTALLATION, DI (WM LOWERING)	-12.	EA	S 550.00	0 \$ 6,600.00	0 \$ 420.00	5,040.00	0 \$ 800:00	0,600,00	\$ 465.00	0 S 5,580,00	o s 617,00	S 7,404.00
61	S INCH DIA 45 DEGREE BEND, RESTRAINED JOINT INSTALLATION, DI (WM LOWERING)	4	EA	s 770.00	0 \$ 3,080.00	0 \$ 470,00	0 S 1,880.00	0 \$ \$65.00	0 \$ 3,460,00	527.00	0 \$ 2,108,00	0 S 665.00	5 2,660.00

TOTAL DASE BID	1	1		S 2,148,386,90		\$ 1,981,600.00		5 2,043,161,00	\$ 2,324,289,00		S 2,927,020.00
Addendum No.1						x		7.	X	····	x
Addendum No.2		į.				x		<u> </u>	 x		x
Addendum No 3	<u> </u>	<u> </u>				Х.	ļ	x	x		X
Addendum No.4						<u>x</u>		x	 x		x
Bidder's Bond						x		x	x		<u> </u>
Form 96		<u> </u>			! 	X		x	x		x
Non-Collusion Affidavit	<u> </u>	 	<u> </u>		<u> </u>	x	ļ	Z	 x		<u>x</u>
Cert in Lieu/Financial Statement						X	İ	x	 <u>x</u>		<u>x</u>
EBE Declaration Form	ļ	ļ ·	!	Í		x		X	 x		= =====================================
Vendor Disclosure Statement Form						X.		x	x		x



Interoffice Memo

Date:

July 26, 2013

To:

Common Council Members

From:

Michael Kiester, Manager, City Utilities Engineering / ESS

RE:

Ewing Street East-West Storm Sewer Extensions Phase I

Res. #75604, W.O. #75604

Council District #5

The contractor shall furnish all labor, insurance, equipment, materials and power for the completion of the project: "Ewing Street East-West Storm Sewer Extensions Phase I "as follows: Construction of storm sewer extensions along Pearl Street, Main Street, Berry Street, Harrison Street, Fairfield Avenue, Fulton Street, Van Buren Street and Broadway. This will consist of approximately 5,920 linear feet of 30", 24", 18", 15", & 12" storm sewer pipc. The storm sewer extensions will pick up existing street and parking lot inlets and catch basins that are currently connected to the combined system. It will also consist of 460 linear feet of 12" water main replacement along Pearl Street, 120 linear feet of water main lowering for the associated storm sewer installation and 290 linear feet of sanitary sewer near Webster Street.

Implications of not being approved: Fort Wayne is committed to improving river water quality. Specifically, the combined sewer Long Term Control Plan will involve the investment of nearly \$240 million in projects to improve river water quality. As part of a Consent Decree negotiated with the US EPA and Indiana Department of Environmental Management, Fort Wayne agreed to implement a number of partial sewer separation projects. Separation done by constructing new storm sewers will reduce the amount of storm water entering the combined sewer system. Reducing the amount of stormwater going into the combined sewer system may allow future CSO control projects – specifically the large tunnel that will run along the St. Mary's and Maumee Rivers – to be smaller.

If Prior Approval is being Requested, Justify: N/A

This project was advertised to contractors on June 28, 2013 and July 5, 2013 in the Journal Gazette and the News Sentinel and July 3, 2013 in Frost Illustrated, Inc.

The contract for Resolution # 75604 awarded to API Construction Corp for \$1,981,600.00 was the lowest most responsive bidder of 4 bidders and 8% below the Engineer's estimate of \$2,148,386.00. The second lowest bidder was \$61,561.00 above API Construction Corp's bid.

The cost of said project funded by: 2012 Sewer Revenue Bond.

Council Introduction Date:

August 13, 2013

CC:

BOW

Construction Manager

Diane Brown

Matthew Wirtz

Chrono